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[ Street Valuation }

STEP 1: Determine Cost

®m Road Area;: 4,973.29 m?

m 2007 Asphalt cost per m? as provided by Municipal
Affairs (engineering division): $37 / m?

m 2007 Replacement Cost for Street:

4,973.29 m? x $37 / m? = $184,012
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[ Street Valuation }

STEP 2: Use Discount Rate

m Street resurfaced during 1994

m Use CPI table to discount 2007 replacement
cost back to an estimated 1994 construction
COSt:

m 2007 (base year) = 100.00%
m1994 = 76.86%




STEP 2, continued

Calculation is:

2007 Replacement Cost x CPI Discounting Factor

$184,012 x 76.86% = $141,432




[ Street Valuation }

STEP 3: Amortize

® The estimated ®m Check the Reference
construction cost now Manual: estimated useful
has to be amortized up to life of residential roads is
December 31, 2007: 20 years.

B Remember: road
resurfaced in 1994, so it
IS 13 years old.




STEP 3, continued:

m First, calculate the annual amortization:

Estimated Construction Cost /  Estimated Useful Life

$141,432 / 20 years = $7,072/year
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[ Street Valuation J

STEP 3, continued:

® Then calculate the accumulated amortization to
December 31, 2007:

Annual Amortization X Years in Use

$7,072 [ year x 13 years = $91,936
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Street Valuathn

L

STEP 3, continued:

® Finally, calculate the Net Book Value at
December 31, 2007:

Estimated Cost - Accumulated Amortization

$141,432 - $91,936 = $49,496




Street Valuation

® Financial Statement Presentation

Cost Accumulate |Net Book
d Value
Asphal | $141,432 | Amgygiizagon $49,496




Sample Municipality
Underground Y g
Infrastructure ﬂ?‘%
b & 5
Tangible Capital Asset
Management Program
198 m—{|—234 m
769 m lE _@
Water Treatment ’I’
ater: Tres | ® /7,
Phase 1 .
ﬁ b 755 m f
80l n 661 m
// Phase 6
324 m—] 290 A 627 n / Modified Transverse Mercator
/ Projection Zone 1
North American Datum
— 1983
Phase 5 ulgm\ R S
® I LEGEND
Phase 2 428 m
gi Softoall Field 06H _ ProvincialRoad —_________[]
e 343 n / Municipal Road —
) Hall
A< Water Line (150 mm D.1.)
Playground /78 A\ Sewer Line (200 mm P.V.C)
1 Manhole
G Tiepot 377 m g ®
E,L"'E‘ / . 878 m 908 n L R |
E £ i ol 77!6 n 776 m
P | W m [
v —I = i Phase 3 102 m 10 m
3 f b
Station | -:159341: 1082 m
i 1107 m Pumping Station Prepared by:
H @ Mark Day
GIS Technician
City of Mount Pearl
mday@mountpearl.ca

Water




Ead
.

=
-
.
i
T

. .
o
.

i : y: : i .

= = . . - - - e ..
.

=
e

.

STEP 1: Determine Cost

® Length of Water Network
on street: 444 m

m 2007 replacement cost for
150 mm Ductile Iron Pipe

per linear m (as provided by
_ Municipal Affairs, Engineering
= Type of pipe: 150 mm Division): $222 / m
Ductile Iron Pipe

2007 Replacement Cost for Street:

444 m x $222 [ m = $98,568

12
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Use Discoun

STEP 2

= |nfrastructure installed during 1994

cost back to an estimated 1994 construction

m Use CPI table to discount 2007 replacement
cost

86%

m 2007 (base year) = 100.00%

m1094 =76
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STEP 2, continued

lon IS

Calculat

2007 Replacement Cost x CPI Discounting Factor

$98,568 x 76.86% = $75,759
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estimated useful
life of 150 mm Ductile
Iron Pipe is 30 years.

B Check the Reference
Manual

1

talled
13 years

lze
INS

IS

, SO |

Amort
construction cost now

has to be amortized up to

December 31, 2007

1994
old.

STEP 3

® The estimated

B Remember
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STEP 3, continued:

m First, calculate the annual amortization:

Estimated Construction Cost /  Estimated Useful Life

$75,759 / 30 years = $2,525/year
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STEP 3, continued

® Then calculate the accumulated amortization to

December 31, 2007

Annual Amortization X Years in Use

,825

525/ year x 13 years = $32

$2
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STEP 3, continued

® Finally, calculate the Net Book Value at

December 31, 2007

- Accumulated Amortization

Estimated Cost

,934

$32,825 = $42

$75,759
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lnancia

®F

Value

$42,934

Accumulate |Net Book

o

Cost

$75,759 |Amot

Water
Network
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